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AG-6044
B.Sc. (Semester-IV) Examination, May 2015

AGRICULTURE

Paper-I

(Oil Seeds and Commercial Crops-II)

(Rabi Crops)

Time Allowed : Three Hours ] [ Maximum Marks : 50

Note : (i) Attempt both questions of Section-A.

Each question carries 5 marks.

KeC[-De kesâ oesveeW ØeMveeW kesâ Gòej oerefpeS~ ØelÙeskeâ

ØeMve 5 DebkeâeW keâe nw~

(ii) Attempt fifteen questions from Sec-

tion-B. Each question carries 2 marks.

Answer of each question should not

exceed 100 words.

KeC[-ye mes hevõn ØeMveeW kesâ Gòej oerefpeS~ ØelÙeskeâ

ØeMve 2 DebkeâeW keâe nw~ ØelÙeskeâ ØeMve keâe Gòej 100 MeyoeW

mes DeefOekeâ veneR nesvee ÛeeefnS~
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(4)

Section-B

KeC[-ye

(Short Answer Type Questions)

(ueIeg GòejerÙe ØeMve) 2×15=30

3. Write the Botanical name of the following

crops.

efvecveefueefKele heâmeueeW kesâ Jeevemheeflekeâ veece efueefKeS~

(a) Chickpea

Ûevee

(b) Safflower

kegâmegce

(c) Berseem

yejmeerce

(d) Potato

Deeuet

4. Name one most troublesome weed associ-

ated with each of the following crops.

efvecveefueefKele ØelÙeskeâ heâmeue mes mebyebefOele meyemes DeefOekeâ mecemÙee-

Ùegkeäle Skeâ Kej-heleJeej keâe veece efueefKeS~

(a) Wheat

iesntB



(iii) Attempt one question from Section-

C. Each question carries 10 marks.

KeC[-me mes Skeâ ØeMve keâe Gòej oerefpeS~ ØelÙeskeâ ØeMve

10 DebkeâeW keâe nw~

Section-A

KeC[-De

(Numerical/ Analytical / Problematic Questions)

(vÙetcesefjkeâue / efJeMues<eCeelcekeâ/ mecemÙeelcekeâ ØeMve)

1. Differentiate clearly between the following giv-

ing suitable examples. 5×2=10

GefÛele GoenjCe osles ngS efvecveefueefKele ceW Devlej mhe° keâerefpeS~

(a) Cereal crop and pseudo-cereal crop

OeevÙe heâmeue Deewj met[es-OeevÙe heâmeue

(b) Legume crop and pulse crop

heâueeroej heâmeue Deewj ouenveer heâmeue

(c) Two-rowed barley and six-rowed barley

oes-OeejerÙe peew Deewj Ú: OeejerÙe peew

(d) Rapeseed and mustard

leesefjÙee Deewj mejmeeW

(e) Seed potato and potato seed

yeerpe Deeuet Deewj Deeuet yeerpe
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2. Give the specific reasons for the following:

efvecveefueefKele kesâ efJeefMe° keâejCe oerefpeS :

(a) Berseem is sown by broadcast method

on puddled muddy watery field.

yejmeerce Kesle ceW uesJee keâjkesâ keâerÛeÌ[Ùegkeäle heeveer ceW efÚškeâJeeB

efJeefOe mes yeesF& peeleer nw~

(b) First irrigation in dwarf wheat crop is done

21 days after sowing.

yeewves iesntB keâer heâmeue ceW henueer efmebÛeeF& yeesves kesâ 21 efove

yeeo keâer peeleer nw~

(c) Pulse crops need less nitrogen but more

phosphorus.

ouenveer heâmeueeW keâes veeFš^espeve keâer keâce uesefkeâve heâemheâesjme

keâer DeefOekeâ cee$ee ceW DeeJeMÙekeâlee nesleer nw~

(d) Gypsum application is recommended for

oilseed crops in U.P.

Gòej ØeosMe ceW efleuenveer heâmeueeW ceW efpehmece osves keâer mebmlegefle

keâer ieF& nw~

(e) Cultivation of menthol mint is picking-up

in Central U.P.

ceOÙe Gòej ØeosMe ceW cesvLee keâer Kesleer peesj hekeâÌ[ jner nw~

(2) (3)



(b) Berseem

yejmeerce

(c) Fieldpea

cešj

(d) Menthol mint

cesvLee

5. Give two improved varieties of each of the

following crops.

efvecveefueefKele ØelÙeskeâ heâmeue keâer oes Gvvele ØepeeefleÙeeW kesâ veece

efueefKeS~

(a) Barley

peew

(b) Linseed

Deuemeer

(c) Lentil

cemetj

(d) Oats

peF&

6. In which agro-climatic zone to U.P., the fol-

lowing crops are predominantly grown?

efvecveefueefKele heâmeueW Gòej ØeosMe ceW cegKÙe ™he mes efkeâme S«ees-

keäueeFcesefškeâ peesve ceW GieeF& peeleer nQ?

10. Match the crops in Group A with their correct

diseases in Group B.

mecetn De keâer heâmeueeW keâes mecetn ye ceW oer ieÙeer Gvekeâer mener

yeerceeefjÙeeW mes efceueeFÙes~

     Group-A        Group-B

mecetn-De         mecetn-ye

(a) Fieldpea (a) Karnal bunt

cešj keâjveeue Jevš

(b) Potato (b) Covered smut

Deeuet DeeJe=le keâv[gDee

(c) Barley (c) Late blight

peew efheÚsleer Peguemee

(d) Wheat (d) Powdery mildew

iesntB Keje&/yegkeâveer jesie

11. Mathch the crops in Group A with their correct

varieties in Group B.

mecetn De keâer heâmeueeW keâes mecetn ye ceW oer ieF& Gvekeâer mener

(8) (5)
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(a) Durum wheat

keâef"Ùee iesnBt

(b) Rapeseed

leesefjÙee

(c) Lentil

cemetj

(d) Potato

Deeuet

7. Give the average yield (q/ ha) of the following

crops in U.P.

efvecveefueefKele heâmeueeW keâer Gòej ØeosMe ceW Deewmele Ghepe (kegâ./ ns.)

oerefpeS~

(a) Wheat

iesntB

(b) Chickpea

Ûevee

(c) Mustard

mejmeeW

(d) Lentil

cemetj

8. Give the advantages of the following :

efvecveefueefKele kesâ ueeYe efueefKeS~

(a) Rubbing the sunflower heads in the morn-

ing with filirous soft cloth.

metjpecegKeer kesâ cebg[keâeW keâes megyen cegueeÙece jsMesoej keâheÌ[s mes

jieÌ[vee~

(b) Inoculation of seeds of rabi season pulses

with Rhizobium culture before sowing.

jyeer ceewmece keâer ouenveer heâmeueeW kesâ yeerpeeW keâes yeesves mes

henues jeFpeesefJeÙece keâuÛej mes šerkeâekeâjCe~

9. Write down the following for late sown wheat.

osj mes yeesÙes peeves Jeeues iesntB kesâ efueS efvecveefueefKele efueefKeS~

(a) Two improved varieties

oes Gvvele ØepeeefleÙeeB

(b) Seed rate (kg/ha) and seed treatment

yeerpe oj (efkeâ.«ee./ ns.) SJeb yeerpe GheÛeej

(c) Irrigation management

efmebÛeeF& ØeyevOeve

(d) N, P
2 
O

5
 
and K

2
O (kg/ha)

veeFš^espeve, heâemheâesjme Deewj heesšeMe (efkeâ.«ee./ ns.)

(6) (7)
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(12) (9)
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ØepeeefleÙeeW mes efceueeFÙes~

     Group-A        Group-B

mecetn-De         mecetn-ye

(a) Lentil (a) Jyoti

cemetj pÙeesefle

(b) Mustard (b) Udai

mejmeeW GoÙe

(c) Barley (c) Pusa Vabhav

peew hetmee JewYeJe

(d) Rajmash (d) Basanti

jepecee yemevleer

12. Give specific reasons for the following :

eqvecveefueefKele kesâ efJeefMe° keâejCeeW keâes oerefpeS~

(a) Rajmash needs more nitrogen application

in central plains than in northern hills.

ceOÙe cewoeveer YeeieeW ceW jepecee keâes Gòejer heneefÌ[ÙeeW keâer

Dehes#ee DeefOekeâ ve$epeve osves keâer DeeJeMÙekeâlee heÌ[leer nw~

(b) Wheat requires pulverized field prepara-

tion for sowing whereas chickpea requires

cloddy field preparation.

iesntB yeesves kesâ efueS YegjYegje Kesle lewÙeej nesvee ÛeeefnS peyeefkeâ

Ûeves kesâ efueS {suesoej Kesle nesvee ÛeeefnS~

lowing insect- pests.

efvecveefueefKele keâeršeW kesâ efveÙeb$eCe kesâ efueS pewefJekeâ efJeefOeÙeeB oerefpeS:

(a) Catter piller

keâšgDee keâerš

(b) Pod borer

heâueerJesOekeâ keâerš

(c) Aphids

ceentB

(d) Thrips

efLeÇhme

19. Enlist the advantages of Furrow Irrigated

Raised Bed (FIRB) method of wheat sowing :

iesntB keâer heâye& yegJeeF& efJeefOe kesâ heâeÙeoeW keâes metÛeeryeæ keâerefpeS~

20. Write down the name of one improved vari-

ety for each of the following crops :

efvecveefueefKele ØelÙeskeâ heâmeue keâer Skeâ GVele Øepeeefle keâe veece

efueefKeS :

(a) Linseed

Deuemeer

(b) Safflower

kegâmegce

(c) Oats

peF&
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(10) (11)

13. What do you mean by test weight of seeds?

How test weight affects the seed rate/ ha.?

yeerpe kesâ šsmš Yeej mes Deehe keäÙee mecePeles nQ? šsmšYeej yeerpe oj/

ns. keâes efkeâme Øekeâej mes ØeYeeefJele keâjlee nQ?

14. Write down the test weight of seeds in grams

of the following crops.

efvecveefueefKele heâmeueeW kesâ yeerpeeW keâe šsmš Yeej «eece ceW efueefKeS~

(a) Barley

peew

(b) Fieldpea

cešj

(c) Sunflower

metjpecegKeer

(d) Linseed

Deuemeer

15. In what ways, the untimely rains and hail-

storms in the months of March and April 2015

caused damage to standing rabi crops in U.P.?

Out of wheat, potato, mustard and fieldpea in

which crop the maximum loss has occurred

and to what extent?

Gòej ØeosMe ceW ceeÛe& Je DeØewue 2015 ceW yesceewmece Je<ee& Deewj

DeesueeJe=ef„ mes jyeer keâer KeÌ[er heâmeueeW keâes efkeâme Øekeâej mes vegkeâmeeve

ngDee? iesntB, Deeuet, mejmeeW leLee cešj ceW mes efkeâmeceW meyemes DeefOekeâ

vegkeâmeeve ngDee Deewj efkeâme no lekeâ?

16. Enlist the objectives of the following agronomic

practices.

eqvecveefueefKele memÙe ef›eâÙeeDeeW kesâ GösMÙeeW keâes metÛeeryeæ keâerefpeS~

(a) Earthing-up in potato

Deeuet ceW efceóer ÛeÌ{evee

(b) Nipping in chickpea

Ûeves ceW efveefhebie keâjvee

17. Give chemical control methods of the follow-

ing diseases :

efvecveefueefKele yeerceeefjÙeeW keâer jeskeâ-Leece keâer jemeeÙeefvekeâ efJeefOeÙeeB

oerefpeS :

(a) Wilt

Gkeâ"e

(b) Root rot

peÌ[ meÌ[ve

(c) Mosaic

ceespeskeâ

(d) Early blight

Deiesleer Peguemee

18. Give biological methods for controlling the fol-



(d) Mentha

cesvLee

21. What should be the moisture content (%) of

seeds of the following crops for their safe stor-

age?.

eqvecveefueefKele heâmeueeW kesâ yeerpeeW kesâ megjef#ele Yeb[ejCe kesâ efueS

GveceW veceer keâer cee$ee (%) efkeâleveer nesveer ÛeeefnS?

(a) Wheat

iesntB

(b) Chickpea

Ûevee

(c) Rajmash

jepecee

(d) Safflower

kegâmegce

22. Give the nutrient requiremet (Kg/ha) of the

following crops :

efvecveefueefKele heâmeueeW keâer hees<ekeâ lelJeeW keâer DeeJeMÙekeâlee (efkeâ.«ee./

ns.) oerefpeS :

(a) Sunflower

metjpecegKeer

(b) Fieldpea

(16) (13)
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(b) Malt purpose barley

ceeuš GösMÙeerÙe peew

(c) Dual purpose linseed

efÉGösMÙeerÙe Deuemeer

(d) Biofertilizers

yeeÙeesheâšeaueeFpeme&

(e) Vegetable rajmash

meypeer jepecee

(f) Crop insurance

Heâmeue yeercee

(g) Climate change

peueJeeÙeg heefjJele&ve
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(14) (15)

cešj

(c) Potato

Deeuet

(d) Lucerne

efjpekeâe

Section-C

KeC[-me

(Long Answer Type Questions) 10×1=10

(oersIe& GòejerÙe ØeMve)

23. (a) Bring out the importance of pulses in hu-

man diet.

ceeveJe  Deenej ceW oeueeW kesâ cenlJe keâes mhe„ keâerefpeS~

(b) Describe the improved agronomic prac-

tices for increasing the production and

productivity of chickpea in U.P. under the

following heads :

Gòej ØeosMe ceW Ûeves keâe Glheeove Je Glheeokeâlee yeÌ{eves kesâ

efueS GVele memÙe ef›eâÙeeDeeW keâe JeCe&ve efvecveefueefKele Meer<e&keâeW

kesâ Devleie&le keâerefpeS :

(a) Improved varities

GVele ØepeeefleÙeeB

(b) Seed rate and sowing methdos

yeerpeoj SJeb yegJeeF& efJeefOe

(c) Nutrient doses and their application

method

hees<ekeâ lelJeeW keâer cee$ee SJeb Gvekesâ osves keâer efJeefOe

(d) Harvesting and threshing

keâšeF& SJeb ceÌ[eF&

(e) Grain and straw yield

oeves SJeb Yetmes keâer Ghepe

24. Enumerate the following :

efvecveefueefKele keâer efJeJesÛevee keâerefpeS :

(a) Direct seeding of wheat in rice-wheat

cropping system.

Oeeve-iesntB heâmeue heæefle ceW iesntB keâer meerOes yegJeeF&~

(b) Kans control through rice-berseem crop-

ping system.

Oeeve–yejmeerce heâmeue heæefle Éeje keâeBme keâer jeskeâ-Leece~

25. Write short notes on any five of the following :

efvecveefueefKele ceW mes efkeâvneR heeBÛe hej mebef#ehle efšhheefCeÙeeB efueefKeS :

(a) Crop diversification

heâmeue efJeefJeOeerkeâjCe


